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Times Table Practise

Tick the box every time you practice each times table.

X2 X3 X4 X5 X8 X10




Monday—Fluency

Add and Subtract Multiples of 100

Add and Subtract Multiples of 100

Lo, Complele e number smnlences
Wrile yaur answers In numben

b, Complele he number seniences.
Wrilke your anpsen in number.

LL- -] .
A. hum"'-- " '."hm.::d" . -
1 (] 1 .
T e
B, M (-] wo || «| W |-| 200
=

A
.'l

da. Use He pad whale madel la wills o
wmibrackon,

4. Use the pard whels model io wile o
subkachon, _

one |

; . I-__ hundred |

/Al
1) 1
{ 7 :

i

Ta. Uss e conecl symbalz o complsis

7k, Use the corscl symbels o complele

e numbear senlences the number seniences.

four _ L Lo
A hundreds = A B - =

W
LT
B, - o= = lw wa B. 00 =
".:l' iy P
Bo, True or lalse? b, True or bale T
LG
twe

160 . W ~ hun ‘---in-




Monday—Problem-solving

Add and Sublract Multiples 0f 100 Add and Subtract Multiples of 100
da, Use Fhese conds bo lind all el ihe di, Use ihese cords fo find all of the
passible addilon equaliom thal will equal | pessible ublracken equalions hal wil
1,000 o leas. egual 100 o more,

(I T

levur (T
[T 400
ew | A |
e e (I T
ELL
g oW 00 Tea e
B Fiuemcos . = &

.'.'\.. .l-... ) )

'“l " U] Y ]

fa. Find ol of fhe possible valuss for &
and B, where & and B are mulliplss of
oo

“w + A - B =600

Y

£, Find all ol ihe possible values for &
and B, where & and B are mulliples ol

loa,
~avo BB

T
LLL (4]

nine
hundreds

b, Jorah and Jane are sublacting
rreulligles of 100,

ib, Peber and Enzo are edding mulliples
ol 100

five
= ? . one L . 7

III hm B i e humﬂl
94 Thi mhlh'rnnwhr ] , Tril Frdsaineg il i ]

L [

Sarah the mhlhn number w Paber Thvis rlsaing numbssr
i oo,
lans Enzo

Whe is comeci? Explain how you know. Whe i correc!? Explain how you know.
£ o, :




Monday—Possessive apostrophes

This family are very possessive of their food! Can you write labels for all the

food in their fridge using apostrophes to show possession?

One has been done for you. %
Misty Grandpa

John
Colin Kaya

Can you write some labels for food in your fridge using apostrophes to show
who they belong to in your family?



Tuesday—Fluency

J-digit Numbers and Ones 3-digit Numbers and Ones
Lo, Draw ihe answer using placs valus &b, Draw ihe angwer uiing plocs valus
esuniers bo complele ihe number counien lo complebe ihe number
senlEnce. senlencs.

A

ww ., @ .
wed @@
wo@® @O

1T} “

éa, Ml in ihe mizsing number or symbal,

&b, Bl in ihe missng number or symbal,

b, 365 e = As A RET - = 81
B. TE1 five = ik B 814 bwe = i3
A
Tr | Sir "
7o, Hansy and Janjay are represenling T, Bz and Lena are repressniing
Aumben uilng ploce value counben, numben ulng ploce valus counlern,
Hew mueh da lhey have o I'I:rwmu:h da lhey |'H'|I'IH|H'I'|'|'III'T
7 .
fo, Compleis ihe numbser senlences, Ih-. Complels ihe number senlencas,

90"
L

Do
B 4ATH -.. =

)

jiy .

A, 404

w

i
B.F3y = ... -

Ty




Tuesday—Problem-solving

J-digit Numbers and Ones  3-digit Numbers and Ones

da, Azra ls represenling @ rumber using
place valise eounlen,

CEP

Q 525358
w0 100

ke sublrach an even number ol ones

counbers.

Wrile down all ihe numben in words the
cauld B el wikh

A
it

db. Cole s repressnling o number using
place value counber.

O [Ses
w w

e adds an sven number al anes
counbemn,

Wrike down all the numbers in wonds he
could be ek wilh,

“r "

fa, Use the ploce valus coands io creake
an addiben and sublrachan number
penienes wilth no exchanges, Record
yaur ealevlalon: in o place valus ehad,

S

o

&b, Uss ihe place valus cords o creaie
an addiion ond sublazlion number
genlence with na exchangss, Record
youl ealeulabsn In a placs valus charl.

Lk

i, Marcus has wrilben this numbier

bl Julia has willen this numiber
senlence:

e ™
.'.

00 100

W + wight = 537
"-..' o

b ahe comee!? Explain yaur angwer,

W .




Tuesday

Using Simple Conlractions Using Simple Contractions
Ta, Bewills the lslowing senlence 5o thal | Th, Rewile the lollowing senlence 3o thal
the new senlence uses confrachons, fihe new senbence vass conlrocBons,
We shall nol be going lo the She will not be pleased if you
school meeling because we have nol done your
are stuck in traffic. homework.

o, Circle ihe words nesded ho build o Bb. Circle the words needed fo bulld o
eonlraciion lo complele Baih ol the eonireclion ke complele bolh of the
peniences below., senlences below,

Fimally, __________ found the [ always been kind

magic eggs in the dark cave, to me.

—____ eal pasta for fea I | have a pet rabbit and

this wlnlng. black and white.

WnE they had she would i%
would nat is has there will

Ya, Thes is wiling some senlence,

T, Alsha ls wriling some seniences

We shall have roast chicken
far lunah,

-

They hod finished their tea
before going oul to play.

'l'h'l will head over to the skate |
purl:

&

l'hl':.-' would like o have a
||.;|.-|,- betore bad.

| have lo uie dierem |
coniraclions lor Ihese
senfences, J

®-

Is he correc!? Prove il.

| ean use the same
conktraclion lar theas
senlences,

o

ks she comect? Prove i,




Tuesday

Using Simple Contractions Using Simple Contractions

e
l couldnt ]
[ wheres ]

i

b, Add has be shaw ihe mistin
Hhﬂh?ﬁ:::ﬁnhﬂ:m. "
[ wont l
[ werent J

w1

e, Which cenkaciion will compleie fhe
felowing senlence?

all going to the

shops.

there's ] | they're

A

3

1k, Which cenbaciion will compleie fhe
telleswing senlence?

Richard be going
on holiday.
couldn't | won't ]

Wl

1. Tick fhe sentence ol hos could use
fhe conlrackon whe's.

e he fastest?
book is on the Hoor?

the time, pleose?

11k, Tick i senience thal hos could uss

ke conlrackion ghgn'l.
i be long.
I miss her when she's gone.

i believe thal you are right.

12a. Wrils the ward palrs for ke
confraclion: below,

whers is
whaere has

rmust not |

13k, Wil the weed pairs for ke
conraclions hlluw_.

they had M s
| they would '/‘ '

il will




Wednesday—Fluency

do, e ihe ploce velue counders fo help | 4b, Use fhe ploce value counien ko help
you pelve: you selve:
408 + 7 = 482 + 9=
W00 100 100 100 o009 00 100 100 100 000
09000 000 100 100 18 10 00
0000 o L
w ow
i, %
W 1
Lo, e the ploce velue choar o solve Eb, Use fhe ploce velue charb io solve
fhe coleulaobions Below, the caleula babaw,
Ay (H 1T 1O Ml Tdol |a (HiT1lO (H1T 1O
e | * 1 e o
H[T|O H|T H|T | HIT|O
* 313 ] | Y 1
- +
A A
W i B
&, Uam ihe nembaer lines o help you &b, Use fhe number lines fo help yeu
selve Ihe lellawing caloulalions: peive ihe lallowing calculafions:
A T6b 4 5= b, di & B =
Crrrrrrrrrrtrypr e e
Tid
B iden= B T2 ed=
et rrpr e v v
e o2
C. 208+ § = . B8+ =
U A O I I O
208 G4
A e
: 1




Wednesday—Problem-solving

da, Explore all ihe possibdiies lor the dp, all Ihe posiblliles lor the
Tl calzulaiion, fellowing caleulalion,

5 0 v oo [ ]

+ & + ¥
g o | |
1 1
'“l-: ik 'Il:.!' [
fa, Alan has been gliven Ihis shelemen o | Sb, Pela bas bean given iz dalement lo
polve: solve:
| 708+ 7 =717 | 507 + 7 = 516 |
He wrilss: Sha wrileu:
" The missing number is ‘ The: missing number is
8, 7.

True or lakke? Frove il Trus o Falue? Prove [F

A

B

.'I'. I.

da, Calie has shown 358 + & using o
rwmbear line Bul the has made a miloke,

L R

AR
9 958 4 4 = 345

!j:plnln and corsch her sror,

o,

&b, Kye his ahown 408 = § using o
number ine bul he has mode a miskake.

AEEEEE RN

ok afi
Ql 408+ 9 =618
Explain and comect his eror,




Wednesday

subordinating Conjunctions  Subordinating Conjunclions

fa. Cirele the subardinaking conjunelion
in Ihe senlence below:

The pirake checked Fhe before he
l'b-llhpl?ﬂ‘hl' ihe irearure, e

-..hll
=]

filz. Cirele Fha subardinabing conjunelion
inlhe senlencs below:

The boy didn'l wear a coal althaugh #
wad wery aabd,

b True of lalse? The undedined wards
are subsedinaling conjunchions.

The pirabe ship sailed gl info the
distanes,

The pirabe was fred glihgugh he hod jus!
had a nap,

]
o
1ol

bk, True or lelse? The underlined words
are subsrdinaling conjunelions,

| have jusl rend o ook jhal | really
enjeyed,

| was sad whsn | had Brished fhe boaok,

L1
4

7a. Choose the mosl likely subsrdinaling
eonjenciion: io compleie the senlences
bElaw,

if afier while  alhaugh
The pirale had a nop Fhe sun
shone,

He st oll lo lock for the reaswe
he had waken up,

Tb. Choose the mosl likely subardinalfing
eonjunclion: lo complais the senlences
blaw,

whan while ihal alfhaugh
The crowd cheered the geal
wos seoned,

They were hagpy hew learm v
lesing.

Ba. Choose the mol lkely subardinaling
elauis lo compleis he senlence belaw,

The ehildren ployed sul alibough

Ak, Choose the masl ikely subardinafing
elavis lo eemplsls the sanbence balow,

The paral walched whils

1. they wenl o the pork.

1. # was buried in lhe sand.

1. they haod a leolball,

2. Ihe pirake dug lor Ireasure,

4, I} was ralnng,

3. the sun hod sel,

oy

yLI

F




Wednesday

subordinating Conjunctions

subordinating Conjunctions

da, Wrile bwo senlences using hwo

db. Write beo senlence: wvilng fwe

diffsrent subordinaling canjunchons, dflerenl svbordinaling conunclions,
bators afier il L
because when while althaugh

1. | played on my bike...

1. | played on my bike. ..

i,

1. lread Fhe boak...

2. Iread fhe boak.,.

N,

A o 1) -
fa. Eewrile roch pok of seniences os one | Sb. Rewsibe sach palr of senlences oz one
wenience uiing a subordinaling senlence using a subardinaking
conjunchan, eonpunclion
Becavie that WA if becauie what whan i
Betere arer white | alheugh G aftar whils | altaugh

Jack finithed ks work, He fownd i dficull,
Ihwnl wilh my doys, My dod read a

We wenl lor a walk. I} was ralning.

Alles woi sbesping, The alarm wenl off,

There wos o knock on Fhe doar, | wenl la
bBed,

| woa cald, | pul an o jumper.

W q i .
éa, 1 the vndevined clouse o main &b, Is the undedined clouse a maln
clause or o subordinaling clovas? clovss or a ubardinaling clouse?

We ale our sandwiches while we were
veating Por the rain io step,

Explain your angwer.

The buns were burnd slihough they hodn't
bean in the oven ey long.

Explain your aniwer.




Thursday—Fluency

subtract 1 Digit from 3 Diqits

subtract 1 Digit from 3 Diqgits

La, lae ihe ploce value counler lo help
you angwer 143 = §

i

Sb. Uz the ploce valus counlers lo |'II|F-
you angwer &8 =T,

fga 1od 6 .-.

100 1pp 8@ 10 ..
o o 10 10 .. o0
oy o .

&a, Uae Base 10 jo caloulals 213=T7,

_:,:-. r .

&b, Use Boze 10 jo coloulale 342 - 9.

=
,_I.r::_

Ta, Which calculalien iz carmeel?
& A4 + 8= 445

B afT=dis-8

Th, Which calculaban & carreelT
& BE3=R72=8

B BEY s 7 =872

T

AfE Afh 45T BN BT 440 A41 442 440 Sdd di B

-'.\'-I
."| .

et

D43 Bi3 D44 S48 Bid D47 Bl B4F D70 871 073

"I.r'-:'

Bo. Complele ihe caleulafions.

124 = § =

B. 3¥2 = 7 =

485 - 4 =

'I'I 1581

b, Complele ihe caleulafions.

A, TIE - F§ =
B 432 - B =
c. 2117 - 4 =




Thursday—Problem-solving

subtract 1 Digit from 3 Digits

Sublract 1 Digit from 3 Digits

da, Use thaas digll cords bo wrlle o
nibirachon senlence thal equals 443,

201010

'il .':-\..-l .
.

db, Usa these digit cords lo wile o
sublrachion senbence thal equaks 56,

0]0]100

g

.\IIII. (=]

fa, Meghon i subkacting § from 451,

v w00 @

I: Maghan corect? Explain why.

Iy i

5b. Harry i3 sublraching ¥ bam 471

[‘Ihl answaer will be H-l-.k iH-i‘

iog @ 1@ 1@ 1@ .
Iil'hrrr corec!? Explain why,
LY

da, Pl in Fhe blonks using =, < ar =,

A, 145 - & 189 - ¥
B 1 - & My - @&
C. 254 - § s - 7

'-I.:.' ]

&b, Bl in the blanks valng >, < or =,

A, 3T - & wr - ¥
B 845 - & f47 - B
c.am - 2 ave = 7




Thursday

Homophones 1

Fill sach pap with the correst homophone

———

-\‘*'I-
aaa I I could hear a coming
" i from the cage.
——l SR e | My how s
Hethrewtha =& Tha antire class would
great distance, whan it was tims for o test.
Tha baby would all e T o P A
through the night
My purple bisret! I eould the of
wonves crashing.
EAp sl b e ey 100 Hrbduk Came over right now!
Please the chease for Can o that
the pizza spocky sound?
Thad o time ot the party! | L —{H|aay RGO e ——
It was Millis's turn to clean the fire
P - .
s . [l .
\"'lﬁ?'_lr'_ﬁ| I|I
i % E .-'II |
e n RO r=Ba ke -
Be careful not to Shamsemah had o blister en har
Wour new toy —
Tha driver had to susdanly, A doctar’s job is to people.
:l'h-n burglar was eaxited to :::::::;“ o
inta tha huge house.
11 ’J - ||| r! ;"



Thursday

Homophones 2

.= Fill each gap with tha sorrect homophone

-

03 ]
. Tha lion hod a long, golden
Mum drove us down tha
kel S
The ETIRRPLI iy ) Tha horsa's __ was silky and scft.
Mr Phillips, our postman, dalivers e S
our | U R MR
Tha toilet block was
eut of ordar Tha landed emosthly
‘j\""r‘ samir likas to eat tasting focd
F - Can you see those horses rusning on
T 7
1 "-il# B
/WX bk o ke
d |
& |- . ] Al
My family enjoyed a day ot the . )
oot bl e w2 w‘/
Ling always plays Wy -
during saccar. | 5 o \
| | 8] )
Sl EEE IR S i
Ploasa da nat make o ! Lusy was digging to har bana.
Thomas didn't want to be Harry baked o __ chasssazhe.
sneaking out of bed. Tha ninw puppy libad ta toys
Tha final of the mavia was and dig tham up latar
tarrifying!

Ewuﬂ_:ri STERL



Thursday

Homophones 3

Fill sach gap with the sarrest homophone

L i
manmreng—— o iy,
Shilchfelt e in har stornach. P ' ..
Milab did _____ want to do L L /
her hemawark, - -
The ________ during sumrms
Therewasa ____ in the middls munﬂdwr:ﬁ“' -
tha rope. -

of = Miss Phillips couldn’t decide or

.. ’ not to give homework.

" i' Y N Tha forecast predicted

sy rain and hail.

| f f" \ L Dl d i

:_-. LF__"-. 3= _:I Weate _ cahke for dassert.
L ﬁ. ._.; The __ was difficult.
. ___ == of my friends are coming for a
play dats.
|,l,l||I i h'll.
1‘(@' ﬁaﬁ’— S e i
saming swimming after schoal? ~
turn is it to take cut 'I"-i!"f :
the rubbish? '
cooking dinner tonight? L& :ﬂ
el oritaleR (R W1
She enjoyed reading the cbout Landon wanted to an ice-craam.
the princess
Mirta didnt want tosay _____ to
Winnia the cat was chasing her her friends.
FeETl
Dad didn't balieve Masosd s all




Friday—Fluency

Add 3-Digit Numbers and Tens  Add 3-Digit Numbers and Tens
Lo, Draw ploce value counbers in the grid | b, Drow ploce value counbers in the grd
io caleulods 384 & 40, io caloulads 631 & B0,

H T o H T o

A _A
W o BT

éo, Complele ihe bar model. &b, Complele the bar model

212 349
152 259

A o ey
j1I o BLT

Ta. lae ihe number line jo solve the T, Use the number line o solve the
caleulalion, calculalion,

260 + 50 2w 430 + B0 2w

(N R U I A U A O O A
d0 370 W0 W0 J060 300 320 J90 MO 80 Js0)&I0 440 480 440 470 48D aFD 80O EID &30 S3D

A A
W "1

fo, Complele ihe part whole model. Ab, Complele ihe pardt whole model

A

W o| 17




Friday—Problem-solving

da, Find £ diferen posibdifies o
complele the caloulstion below,

792 + §o = g2

-..'\-
LA

db, Find § diflarenl possibiliies o
complele he caleulalion Below.

385 + §o - a5

F

fa, Homon lx selving the calculolon
balow,

187 + = 257

He says,

4| Fhibnk: the mlul-ng]
numbar is 40,

|ll.|'I-I' carecl? Explain your reasoning,

.I'I -l

Sb. Wilkam ia selving ihe calculafion
below,

567 + = 437

He says,

’ 41 think the mlnl-ng]

number is 80,

i he corech? Explain youw reasoning,
1T,

&0, Lora wriles this slolement:
[ My number is 747, | odd 80. ]

Whal is my answar?

Hania

I1|r
|l a9,

Ujlhu iz cameed? Convines me!

o

&b, Raloel wrikes ihi shelemend:

My numbaer is 454, | add 70, ]
What is my answer?

| ik his
anavwer i3 Fld

sally

'l'!'lu-h correcl? Convince me!

|

== ®

Fakrick




Friday

The, a or an?

d. True of lalse? The arficles are ured correcily In the senbences below,

2. The fastest land animal is an cheetah ond the largest land |
animal is a elephant,

F

A children had a sandwich and a apple for lunch.

L -

< It was a cold Sunday morming so the clothes didn't dry on
| the washing line.,

&

'“I::%-' | -_:
.

. Use tha aficles o complaie the senlences. The senlences may use more than one
arlicle.

A The police hoped they could find __owner of __
" |orange van,

g, |Mr Brown, teacher, likes to write with _____
" |black pen.

C. | shark lives in _ ocean.

1 (e ) (=) .

&, Jeremy Whinks he has used ke cormeci arlicle lor Ihe senlences below,

1. Elizabeth's dod is a eleckrician and an plumber,

2. They took him to a oplician on a bus.

Find and explain any erors,

i

L

e




Friday

subtract 1 Digit from 3 Digits

subtract 1 Digit from 3 Digits

Lo, e the ploce volue counders o help
you angwar 143 = §

1,

5b, Use the phﬂ- vdu-::unhuh help

you angwer §76 = ..
..

7 wow

&, e Base 10 fo coloulele 213 =T,

_:.-:. ; |

kb, Use Bose 10 o coloulale 362 - 7,

=
._I.':!_

Ta, Which caoleulalion i1 cormecl?
A A%4 4 B =445

B AT =diS -8

Th, Which calculaksn i carmeel?
A BE3A=AT2=-8

B A&+ P =872

e

AfE ABd 45T A5H ABY 440 441 b3 A4 b A48

.-'\'.I
.'I i

Pt

D43 Bid Da4 45 Bid DT BiD B4F OF0 &1 OTE

7

#a, Complele the caleulafions,

A, 124 = § =

B. 32 - 7 =

C. 485 = 4 =

b, Complels ihe caloulafions.

A, 78 - ¥ =

B 432 - A =

c. 217 - A =




